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Match the following :

(d)

Non-Alignment movement

1% Non-Alignment movement summit
2™ Non-Alignment movement summit
3" Non-Alignment movement summit

4" Non-Alignment movement summit

Answer options :

(1)
(2)
(3)
()

@ b © (@
@ @ @ 0
@ ) 6 G
0 @ @) G
) 6 @) G

ETHT (Ffern)
FElE (i)
sHfesad (stfesifan)
w0 (i)

Places

Lusaka (Zambia)
Belgrade (Yagoslavia)
Algiers (Algiria)

Cairo (Egypt)
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2. YRATA WU GIOGUE! HIvegl Gy faly %o ?

(a) feq mem (b) ST v

(¢) T (d) YHEERED 98

it 39

(1) (a) AT (b) T (2)  (b), () AT (d) T
@) (@), (b) A (c) TR @ (@), (o) = (d) T
Who among the following organisations opposed the partition of India ?
(a) Hindu Mahasabha (E) Samajwadi Party
{c) Sikh Community (d) Samatawadi Party
Answer options :

(1) (a) and (b) only (2) (b), (c) and (d) only
(3) {a), (b) and (c) only (4) (a) {¢) and (d) only

3. GOous §us SO TR HI e 7

(a) TfewEHA, §UHM Ay (b) oA TR, IS FadaT
(c) e, d=I=I (d) <, AT

gt I

(1) () ST () " @ (b), (o) el (d) TR
(3)  (b) ST (c) T @) (a), (b) ST () TR

Who among the following were the Governors of Bombay Province 7

(a) Elphinstone, Sir John Malcolm  (b) Thomas Manroe, Chaplin Robertson

(¢) Grant, Pontinzer {d) Duff, Marshmen
Answer options :

(1) (a) and () only (2) (), (¢) and (d) only
(3 (b} and () only (4) (a), (b) and () only

FHAT RS AT/ SPACE FOR ROUGH WORK
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4, W T Wit W et nel sifsrm enfn e foshror e S @

(a) e arfder (@) TRR
(b) T W §e | (i) PR
(d) T TR Sfee sifdeE (v) T«
TatEt I ;

@ (b) (g (d)
(1) G @ Gv) @
2 (@) @ Gv) @
(3) @) () @) @)
@) @) @v) @ )

Match the important sessions of the Indian National Congress with their venues :

(a) First session iy Lahore

(b) Division in National Congress (i) Faizpur

{c) Demand for Complete (iti) Mumbai
Independence '

(d) First session in rural area (iv) Surat

Answer options :

@ () (o (d
(1) @) @ @) (@)
(2) (@ G v @
3 @ @O @ @)
@ @ @) @ @

=

(=

5.  TRR SO P IS ROl Sl ¢ HIRRHE SRd 3 A hahd YU H& oo 1w 2
(1) e (2) WUB WER
(3) = gorecesH 4) %= 3 hw Afe

To whom did Governor General Lord Wellesley not allow to enter Calcutta considering that
they were a threat ?

(1) Pendaris (2) Maratha Sardars
{3) Baptist Missionaries (4) French and Danish soldiers

HoAl HIATES AT/ SPACE FOR ROUGH WORK
P.T.O.
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6. U ST T FeRHIS WG] SIv STkl Faae e ?
(a) TUIE FO7 TGS, <. TT8
(by =S W, TEEg WA
(c) TeTem arse, firereer vaa
(d) OIS BT TR, TH WIS Wik

W‘fﬁﬁ:
(1) (), (c) 0T (d) B (2) (b, (c) AV (d) T
(3)  (a), (b) 3N (c) e (4) (a), (b) 30T (d) e

Which of the following Persons included in the Foundation of National Congress in
Maharashtra 7

(a) Gopal Krishna Gokhale, Justice Ranade

(b) Haribhau Sathe, Ramchandra Mane

{c) Dinsha Vacha, Firojshaha Mehata

{d) Krushnaji Laxman Nulkar, Gangaram Bhau Maske
Answer options :

(1) (a), (c) and (d) only (2) (b)), (¢) and {d) only
(3) (a), (b) and (c) only 4) (a), (b) and (d) only

7. U TomaER! foEwE Y Fekte QT SHE 1 T sTe ST Jrereee It Redt
HIvE! faam W e 2
(a) 1879-1882 YA WRAW Bl
(b) T FTUEG F HOHAT 0 FHeL.
(c) TN FohwN feg-qited Tl TMeuE o,
it I '
(1) haws (a) M (b) T LA, (2) a (b) AT (¢) HeA e
(3) hEw (a) M () A TR (4) @ (a), (b) M (c) T 3.
Which of the following statements about the founder of modern Pan Islamism, Jamal al-Din-
al-Afghani are true ?
(a) Was in India between 1879-1882.
(b) He gave lectures in Hyderabad and Calcutta.
() He pleaded for Hindu-Muslim unity in Calcutta.

Answer options :
(1) Only (a) and (b) are true. (2) Only (b) and (c) are true.
(3) Only (a) and (c) are true. (4) All (a), (b) and (c) are true.

FHoAT FUTHIS |/ SPACE FOR ROUGH WORK
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8. WOITE! SN SHAEREI UaT WIS TR T SI0A ST Bl ?
(1) A T g A 9 afafed
(2) . HEEEt
(3) TWHEE 9
(4) T REad smae
Under whose Presidentship the ‘Sarvajanik Sabha’ started in Pune ?
(1) Raje Shrimant Shrinivas Pant Pratinidhi of Aundh
2)  Justice Chandavarkar

(
(3) Ramchandra Sane
(4) Waman Shivram Apte

9. TRIOU! USR], G S 377 Wifee Ao o fa=me s aumte g ?
(a) foaiEH T®, Glaay 99, SeiaEg
(b) TAEAY MR, FUFER W, HAHIFAR T
(c) svaaR faemarn, WegAry emir, YA ssit
(d) SxaEs e, UsHrE |, faftieeg 9

gy 39T
(1) (), (b) 30 (c) B (2} (b}, {c) AW (d) H=
(3)  (a), {c) 3N (d) B (4)  (c) 30 (d) w=

Which of the following thinkers in the field of Politics, Social life and Literature were from
the Brahmo Samaj ?

(a) Chhittaranjan Das, Surendranath Sen, Bankim Chandra

(b) Devendranath Tagore, Keshavchandra Sen, Akshay Kumar Dutta

(c) Ishwarchandra Vidyasagar, Ravindranath Tagore, Surendranath Banerjee
(d) Ishwarchandra Gupt, Rajnarayan Bose, Bipin Chandra Pal

Answer options :

(1) (a), (b) and (c) only (2}  (b), (¢) and (d) only

(3) (a), (¢) and (d) only (4) (c)and (d) only

10. TR wigrara Qifefeme weie A S T S a2

(1) ueHE 9% (2) wER (3) TS TH (4) aE RIS
To whom did Elphinstone appoint as the Political Agent of Satara ?
(1) Edmund Berk (2) Clive (3) Grand Duff (4) Warren Hastings

AT FHMTEE A/ SPACE FOR ROUGH WORK
P.T.O.
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11. e 4 :

(a)

3)
(4)

Match the following :

(a)
(b)
{©)
(d)

0
)
i)
(i

(b)
(i
(i)
(iv)
(i)

(iv)

Kalamb club

Twelve stars

Belgaum group

Thane group

Answer options :

(b)

{c)

(iv)

fermamst FES
HTehl AEH

Pimparikar
Dinkarshastri Kanade
Kaka Naik

Gangadharrao Deshpande and Govindrao Yalagi

FoAl FEWEES S/ SPACE FOR ROUGH WORK
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12. TR FvR Faapr fierg, oy, TER 9eEE TSfaasn wOH S F0d 2 ?

(a) TTOTIAE W (b) S WeHH

(c) g ITERT WRIASHL (d) THEE qHT SHEHT
it 36T

(1) (a) SO (b) T (2)  (b) S (c) F

(3)  (b), (c) MM (d) T (9)  (a), (c) 3N (d) et

Which of the following painters were working as Royal Painters in the Kolhapur, Aundh
and Hyderabad Princely States respectively ?

{a) Ganpatrao Mhatre (b) Abalal Rahiman

(c) Shripad Damodar Satvalekar {(d) Ramachandra Waman Deoskar
Answer options :

(1) (a) and (b) only (2) (b) and (c) only

(3) (b), (0) and (d) only (#) (@), (©) and (d) only

13. GOGIEH TR Hoe fgven el sdvars & 49 e ?

(a) =4 frerTdt B (b) T freed wreme

(c) e faed e (d) omftE waEl fem

watd I

(1) (a) 30 (b) wer (2)  (a), (c) 3NN (d) PR

(3 (o) 3 () BT (3)  (b), () O (d) ey

Which of the following Christian Missionary were involved in Propogation of Christian
religion ?

(a) Church Missionary Society (b) Spanish Missionary Society

{c) London.Missionary Society (d) American Marathi Mission

Answer options ;

() (a) and (b) only () (a). () and (d) only
(3) (¢)and (d) only (4) (b), (c) and (d) only

HeAT RMMEIA AR/ SPACE FOR ROUGH WORK
P.T.O.
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14.

10 A
" UG Hereh TS A1 HEd WIeAeUsh! wiv e fud € ?
() TS o TGS
(b) AifTaTg W, UStd gRaTY e
(c) STEHEEE, 1Y, SIE, FeprERT oy
(dy Sl wiers, TRM 93 Tk
ot I
(1) (a), (c) 3 (d) FH (2)  (a), (b) 3O (c) T
(3) (b, (c) 3T (d) o (4)  (a), (b) ST (d) P

Which of the following were associated with ‘Bharat Sevak Samaj’ ?
(a) Gopal Krishna Gokhale

{(b) Shrinivas Shastri, Pandit Hridaynath Kunzaru

(¢) Thakurbappa, N.B. Joshi, Kakasaheb Limaye

(d) Dr. Bhandarkar, Gangaram Bhau Maske

Answer options :

(1) (a), (c) and (d) only (2) {(a), (b) and (c) only
(3) (b)), (¢) and (d) only (4) (a), (b) and (d) only

15.

T WA 3EAE @H I YRSH=ATdie WRTH Feter 3Hd FUaEE! Hivk S0 GF &0
B ?

(1) dESE-3Ie-IEoE (2)

(3) STEIR-T-HHH (4) U ER

Which Newspaper Sir Sayyad Ahmed Khan started to attack on orthodox traditions of the
Muslims ?

(1) Tahjib-ul-Akhlakh (2) Quami Tanzeem
{3) Akhbar-e-Mashriq (4) Roznama Khabrein

FoAT HIHMEE! M1/ SPACE FOR ROUGH WORK
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16. UEI® A1) W 3R Hl ?
(a) ST 3 e Wi g QO weE g
(by TIET FwacHl YAR SISl ST sEie fustiaifnae Hemdan STET qe.
gafdt FY
(1) (a) ¥ (b) T AR, (2) (a) M0 (b) 37T e,
(3} (a) 30f (b) WF sWA. (4) (a) 3TEHA (b) TH .
Are the following sentences true ?
(a} Dr. Annie Besanl was a member of Indian National Congress.
(b) The Theosophical society was useful for Annie Besant to propagate Home Rule
Movement.
Answer options :
(1) (a) is true (b) is not true. (2) (a) and (b) are false.
(3) {(a) and (b} are true. (4) (a)is false (b) is true.
17. Siredl Jea
(a) @AY Y AT () Hu3 A9 WO sy Tieedr ISy e
(b) THNIUE THFATS (i) 4t vt yrenfess Sraesia fafdas = v
(c) TGRS dSTHT (itt) T vomh TR TrgA
(d) Toram ST e (iv) o g WReR wwre Sy T
arfedt 3
@ © (© @
@) @ @ ()
(2) () () (@Gv) (i)
() @ vy @ )
(4 @ @ (@v) (@)
Match the following :
(a) Chhatrapati Shau Maharaj (i)  President of the First untouchable castes
conference held in Mumbai
(b) Sayajirao Gaikwad (i)  Shri Shankar Prasadik Somvanshiya Hita
Chintak Mitra Samaj
(c} Gopalrao Walangkar (ili) Foundation of Miss Clarke Hostel
(d) Shivram fanba Kamble (iv) Foundation of Anarya Dosh Parihar Samaj

Answer options :

@ ®) @ (@
M @) @ 6 v
@ @ @ @ (@
@ 6 v @ ()
@ @ @ )

Sanstha

ool ShTUTATS S/ SPACE FOR ROUGH WORK

P.T.O.
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18. TRRIIE® 1857 <A1 323191 A WISIGUH! vl Heh g ?
(a) WA Hi (b)) TEHERE WS
(c) T Tyt T (d) T RREE
gt 3T
(1) (a), (b) 3 (c) e (2)  (b) ¥ (c) TR
(3)  (b), (c) 3T (d) Fert 4) 0o ud FUR
Who lead the revolt of 1857 in Maharashtra ?
(a) Bhagawantrao Koli (by Nanasaheb Peshwa
(c) Rangobapuji Gupte (d) Ramyji Shirsat
Answer options :
(1) (a), (b) and (c) only (2) (b)and (c) only
(3) (b), (c) and (d) only (4) All of the above
19. S e :
(a) Ten & =l G) frl fa, sfaafaa
(b)  TIOTTA W HISTTIeRT (i) e fawer
(c) w9, e, W (i) =T feenR
(d) dgo Tiw disa (iv) 1873 98} ‘PR TEt’ e TeAw gavl iow
Tt I
@ (b) (9 (d)
1) @O @) @ )
(2) G @ @ @)
@ @ @) Gv) @
(4 ii)

tch the following :
Raja Ravi Verma (i)  Nature picture, Character sketch
Ganpati Shankar Majgaonkar (i) Warali Painting
(c) Mashe, Jivya, Somya (i) Cartoonist
(d) Tendulkar Mangesh Dhondopant (iv) The painting of ‘Nayar Lady’ received
Gold medal in 1873 from the Governor

)
)
) (
) ) @) G) G
a
)
)

Answer options :

(d
@ G @) )
)
(

o

= g

)

1

)
4) (v) @ @) ()

T RHTES! SR/ SPACE FOR ROUGH WORK



A | 13 Fi12
20, WIHTUHT hivca] HE TIARH Higd 17 =i deifed 6 ?

(a) e @Al (b) gFEET HHA

(c) Y AR Fe (d) o= T9e TEieF Qe aee

Tardt I

(1) (a) ST (b) Fo (2)  (a), (b) 3TV (d) T

(3) (b} 37T () o @) () s (d)

Which of the following institutions were related to RajaRam Mohan Roy ?

(a) Atmiya Sabha

(b) Unitarian Committee

(c) Indian Liberation Federation

(d) The member of the Royal Asiatic Society of England

Answer options :

(1) (a) and (b) only (2) (a), (b) and (d) only

(3) (b) and (c) only (4) (c) and (d) only

21, WREGTH! R G YIEE GEsE e Bl oy gsifaer 9 ?

(a) SR (b) TR () e (d) R
wardt Y

(1) (a), (b) S (c) ot @ (b, (o) T (d) ey

(3)  (a), (c) ST (d) FH (4)  (b) s (d)

Which of the following Princely states refused to integrate into the Indian Union ?
(a) Alwar (b) Hyderabad (c) Junagad (d) Kashmir
Answer options :

(1) (a) (b) and (c) only (2)  ®), (c) and (d) only

(3) (), (¢) and (d) only (4) () and (d) only

HoAT HIHTHE AT/ SPACE FOR ROUGH WORK
P.T.O.
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22. YGio 9rdid 9ol haen s A1 Wi -
(a) ¥ HuE fremdtern ufsea wedeRiE T B,
(b)  Hadd TR (femeihe) RUH HA TN F Wew TRAH B
(c) W WO 9§ HrTe afed g,

it I
(1) e {1l (2) SAHEH Qg
(3) A TS (4) WA WISRSH

Name the person described in the following sentences.

(a) THe was one of the [irst graduates of the Bombay University.
(b) He was the first Indian to practice as an advocate in Bombay.
(c) He was the Founder Secretary of Prarthana Samaj.

Answer options :

(1) Bal Mangesh Wagle (2) Atmaram Pandurang

(3) M.G. Ranade (4) R.G. Bhandarkar

23, WEE Jdc FHed Wl TEE GoTel wal ve i et ?
(1) 10 §<, 1938 2y 15 fedaw, 1939
(3) 21 SHaTd, 1940 (4) 8 3T, 1937
During the Freedom Struggle, when did Freedom Fighter Savarkar Visit Solapur 7
(1) 10 Sept., 1938 (2) 15 Dec., 1939

(3) 21 Jan., 1940 (4) 8 Aug,, 1937

FeAT HHEE A/ SPACE FOR ROUGH WORK
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24, ERTERIS YEISUh HI0AT AR VAT T HEE=N T Hewrt g ?
(a) FOMSH T JOHT, AT T
(b) Toarm faugeeR, fienm @1e
(c) oI 34E, M7, AR
(d) T SR, Hi.F. Fd

gt 34T ;
(1) (a) 3T (d) Ferd 2) (), (b) 3T (c) B
(3) (a), (b) B (4)  (c), (d) P

Who of the following personalities in Maharashatra were among the founders of the Indian
National Congress 7

{a) Krishnaji Laxman Nulkar, Ramchandra Sane

(b) Sitaram Chiplunkar, Shiyram Sathe

(¢) Waman Apte, G.G. Agarkar

{(d) R.G. Bhandarkar, D.K. Karve

Answer options :

(1) (a) and {(d) only (2) (a), (b) and {c) only
(3) (@) (b) only 4) (. (d) only

25. WK HERTZH! Todes YTHIO WM Gie=iauars Waers S HloieT hEwai o B ?

(a) . FviawE dieh b) T TEE
(c) THAEE 96N (d) THES d@H
e I

(1) (a) =0T (b) B (2) (b) 30 () Fo (3) (a) STV () Bt (4) (b) 0T (d) Tt

Which of the following activists worked to spread the Sanyukta Maharashira movement in
rural areas ?

(a) Dr. Keshavrao Dhondge (b) Gurunath Kurude
(c) Ramachandra Pawar (d) Maganlal Belsar

Answer options :

(1) (a)and (b) only (2) (b)and (c)only (3) (a)and (c)only (4) (b)and (d) only

oAl HHTER S/ SPACE FOR ROUGH WORK
P.T.O.
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26. SiSd @
W -1 w9 - 11
("rZuni ) ( SirEoreR ITET )
(a) ST (i) BT
(b) wIHd i) qO-EEw
(c) HIS (iif)  FHIRTR-FSTS
(d) Garest (iv) HEHRI-TRIS
it 39

(@ (b) (9 |
1) Gv) () @ (i)
(2) () () (v) ¢
(3) @ () @Gv) (
() ) vy (@) (i)
Match the following :

Column - I Column - II
(Ghat Pass (Way)) (Connected cities)

{a) Ambenali (i) Thane-Ahmednagar

{b} Hanumante (i) Pune-Satara

{c) Malshej (iii) Kolhapur-Kudal

(d) Khambataki {iv) Mahabaleshwar-Mahad

Answer options :
(@) (b) (c) (d)
) () @) (@) ()
2) (wm) () (v) (@)
) @) () (v) (i)
4) (W) (iv) (i) (i)

Hel HHMEG 9T/ SPACE FOR ROUGH WORK
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27. SSdl oM
WY -1 w|WY-11
(TR wv) (WAYW)
(a) WA G) ufEm erfiee
b) fg= (i) feot
(c) EIHET (i) 3AIH
(d) e (iv) TR
LRI

(1) Gv) @) @) 6

@ @) v O @

3 @ @ @

(@) ) @) 6 @

Match the following :
Column - I Column - II
(Local Wind) (Country/region)

{a) Feohn (i) West Africa

(p) Chinook (i) Chile
{¢) Harmattan (i) Alps
(d) Zonda (iv) Rockies
Answer options :

@@ () (o) (&
(1) vy (@) (@) )
2) @) Gv) @ @
3 @) @ @ @)

(

(4) () (@) (D)

FHoAT HHWEIS J/SPACE FOR ROUGH WORK
P.T.O.
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28, Siredl ora
wWY-1 Y- 11
(fEs) ( Sirzara)
(a) afwS (i) TH-FTR
(b) =TT @ (il) STEUO-TBEl
(c) e (i) ITTNHG-HIS
(d) feemr (iv) HNS-TE
RER i

@ (b) (g (9
1) @ Gv (@@ (i
(2 Gv) () (@) (i)
B) @) (v) () (i)
@ @) 0 6@ G
Match the following :

Column - I Column - II
(Passes) (Connects)
(a) Banihal (i) Jammu-Srinagar
(b) Bara Lacha (i)  Arunachal - Lhasa
{¢) Bomdila {(ti1)) Arunachal - Mandalay
(d) Dihang (iv) Manali - Leh
Answer options :
@ B © @
M 6 ) ) )
@ v 0O @ (i)
@) O v G 6
@ @ 6 @

29, TEUAT 1961 WHIN MREE TASTS fafad wRmy HTST ST ST i,
(1) 94 (2) 144 (3) 187 (4) 197
According to the Census of 1961, there were languages spoken by different
sections of the Indian societies,

(1) 94 (2) 144 3) 187 @) 197

HoA! HWHES AT/ SPACE FOR ROUGH WORK
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30. 9gae fSeam=m @9 Hiv fSee 31ed ?

(a) e by G (c)  STHTEt (dy =

qiE 39T ;-

1) (@, ®). © (2 (), (©). (d) 3) (@ (b (@) (a) EOI()

Which districts are found to the east of Yeotmal district ?

(a) Gadchiroli (b) Chandrapur (¢) Amravati (d) Washim

Answer options :

(1) (@), (b), () (2)  (b), (), (d) (3) (@, (b) (4) (a)and (d)
31. HERTE GRS fohdl 29h <o § T9d faumr=an s ad ?

(1) 90 (2) 30 (3) 10 4 07

What is the percentage of forests in Maharashtra state comes under revenue department ?

(1) 90 (2) 30 3) 10 (4) 07
32. e o

WY -1 WY - 11
( TSR Wi ) (W@ =)

(a) S (i) PO W

() wet (i) Ferwolt

) HR (i) PR A

(d) g (iv) 3=l apE

qaiEr ST

(@ () (o (d)
(1) Gi) @Gv) (@) ()
@ 6O @ @) G
@) (v) @) @ (i)
(@) () (v) @) @
Malch the following :

Column-{ Column-I1
(Vegetable crop) (Important variety)
{a) Potato (i) Phule Baswant
(b) Ladyfinger (ii) Hirkani
(c) Bitter gourd (iif) Kufri Jyoti
(d)y Garlic (iv) Arka Abhay

Answer options :

(@ () (0 (d)
(1) (@) @v) @ (i)
2 @ @) Gv) ()
(3) (v) @) @) )
(4) (@) (@v) @) @)
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33. WO 92 WOOTE! R il SuE FHae! 3T 2
(1) 3ieHA TR (2) i (3) ouEY @) =T
Maldives Islands are situated to the south of which of the following islands ?
(1)  Andaman Nicobar (2} Sri Lanka (3) Lakshdweep (4) New Moor
34, ''UERH we ' TOE FIORET TEER S ?
(1) R (2 = (3) Ha (4)  wEr
“Yasaji Kank” dam is situated on which river ?
(1) Nira (2) Mulla (3) Mutha (4) Manganga
35. Y '3 e ‘e e’ fEoew ea onfor Wiy ‘= ued Iuen’ fEoed oTRd. |ie A Siew
EEEL
i 31! la?
() am M)
(b) T (i) sErEdl
(¢) TR (i) D
(d) Fwm (iv) fmon
it I
(@ (b) (o) (d)
(1) ) @Gv) (@) )
(2 Gv) @) @ @)
@) (iv) g (1) @)
@) @@ @) @ ()
Main rivers are given in Column ‘A’ and their tributaries are in Column ‘B’ match the pairs
properly.
IAI IBI
(a) Tapi (i) Bhima
(b) Yamuna (ii) Indravati
(¢) Godavari (i) Chambal
(d)y Krishna (iv) Girna
Answer options :
@ (b) (0 (d)
Q) G Gv) @) 6
) @v) (@) @ )
(3) vy () @ (@)
4) @) @@ @ )

FHeAl wAEE S/ SPACE FOR ROUGH WORK
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36. rowHy AT wewn fafwsm wam fedt ok s ?
(1) 20 (2) 80 3 70 (4) 80
What is the percentages of silica is found in igneous acidic rock ?
1) 20 2 60 3) 70 (4)° 80
37. S &
WY -1 Wy -11
( 3TUTES &g ) (=)
(@) IR (@) Ty,
(b) TEIT () FerTg
© wHegwn (i) IW WA
d) T (iv) T99ER
a3
@ (b) (o (d)
1 O @) @ @)
(2) G Gv) Gi) ()
@ Gv) & @) G
@ @ Gv) 6 @6
Match the following :
Column - I Column - 11
{Automic power station) (State)
(a) Tarapur (i) Tamil Nadu
(b) Rawattbhata (i) Maharashtra
(c) Kalpakkam (iti) Uttar Pradesh
{d) Narora (iv) Rajasthan

Answer options :

@ () { ()

1y O @) @ (@)
(2) @) Gv) @) (@)

(3 @ O G @
4) @ Gv) @ (i)

HEAT THIHETS AR/ SPACE FOR ROUGH WORK

P.T.O.



F12 22 A
38. TR &g TRl gEard ol &t ?

(1) SEF e AR (2) oA dierd sisrT

(3) ot el e grEl (4) . FTHFSH THME TR

Who started cotton textile industry in Maharashtra ?

(1)  Shri. Nanabhai Shankarseth (2)  Shri. Dhirubhai Ambani

(3) Shri. Kasavji Dadabhai Dawar (4) Shri. Kasavji Nanabhai Dawar
39, WO § AT U1 PIEANIER WG] SV Teard! TMHE ARd ?

(1) oRE T, A ) T, s, IFEHETH
(3) die 9, eI 4) Fearel, e, s

Which of the following are the important railway stations located on Solapur - Manmad
railway route ?

(1) Latur, Kurduwadi, Daund (2) Kurduwadi, Daund, Ahmednagar
(3) Daund, Pune, Ahmednagar (4) Kurduwadi, Daund, Nasik

40.

HIHV (oo WA WA B TL S 37 ?

(a) HIFY TS Has-HraT HR 413 . w4 @,

(b) Y Ted AR 61 SIS ST

(c) TPV IEHEIE WTHAR & HeeTs T Ty e A

it 39
(1) faum (a) snftn faum (b) ) famd (a) snftn fum (o)
(3) faum ) anfin faum (o) (4) faum (a), (b) anfo faum (c)

Which of the following statements is/are false regarding Konkan railway.

{a) The distance between Mumbai and Coachin is reduced by 413 km due to Konkan
railway.

(b) There are 61 tunnels on Konkan railway.

(¢) Sangmeshwar is the important railway station on Konkan railway which is in
Sindhudurg district.

Answer options :

(1) Statement (a) and (b) (2) Statement (a) and (c)

(3) Statement (b) and (c} (4) Statement (a), (b} and ()

ol HwMHS A0/ SPACE FOR ROUGH WORK
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41. WEAE g wderor i ) Syhfier adere SeEE ware o o e ?

(1) 1963 (2) 1968 (3) 1956 (4) 1932
In which year Indian soil survey and land utility survey institute were established ?
(1) 1963 {2) 1968 (3y 1956 (4) 1932

42, RSN SEMHGHE GOGTH! HivMl @id e 378 7

(1) wea (2) woE (3) fafedt (4) ST
In Maharashtra which of the following is the main source for irrigation ?
(1) Canals (2) Tanks (3) Wells (4) Lifts

43. aqﬂﬁﬁsﬁwd@_mwﬁmaﬁ@@aﬂaﬁaﬁwmaﬂmm?

() R (b) T () Temrg @ foy

peipidcht

(D @ ®) QD (2 @b G @ d.d @ @ (@ @b e
Arrange the following islands of Japan from North to South and select correct answer using
the code given below :

(a) Hokkido {(b) Honshu (c) Shikoku (d) Kyushu
Answer options :

1) @ b)) 2 (D 0@ @) @ b dE @ (@ b) @)

34. @O fauH =L
(a) VIR R, AT SAYH N [T TSI ST
(b) TR TIHTR TETRUHY 3IYHT IS Higar THITER Hae AW,
(c) VIR TR SEvERTIE S/ A 3T FO WN,
et 3
(1) e {94/ (a) T TR,
(2) e faYM (b) SRR AR,
(3) o (a), (b) S () IR e,
(4) Hd faum e e

Observe the following stalements :

{(a) Chota Udepur, Bariya are the mica mines in Gujarat state.

(b)  After Bihar the next largest mica producing state is Rajasthan.
() Manganese is produced beyond its requirement in India.
Answer options :

(1) Only statement (a) is correct.

(2) Only statement (b) is correct.

(3) Statement (a), (b) and (c) are correct.

{(4) All the above statements are not correct.

THeeAT HHHS! A/ SPACE FOR ROUGH WORK
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45, WFIER B YIS FIoaT Hived 2 Togre fraRugien Tmia 3 @ 13T o
(1) HS 9 TeNIE ‘(2) R & TeId
(3) HARE 9 Y WeW (4) Y Yo T ATy,

‘Bakingham’ the world famous canal runs parallel to the coast of which of the following two
states. -

(1) Karnataka and Maharashtra (2) Maharashtra and Gujarat

(3) Karnataka and Andra Pradesh (4) Andra Pradesh and Tamilnadu

46, Y TR WHEUHRT HIVE T SO HATd e YO G g/

(1) e 2) I (3) SR 4) siefem

Which of the following continent is the world’s driest inhabited continent on the earth ?

1 Asia 2)  Europe 3 Africa (4)  Australia
P

47. TESGIH! HIO A T I IERA AU I (HYV) R 2
(1) IR-8 (2) PV-18 (3) TFHA-705 (4) w4
Which of the following is the High Yield Variety (HYV) of Rice ?

(1) IR-8 (2) PV-18 (3) Deccan-705 (4) Shankar-4

HEAT RGN AN/ SPACE FOR ROUGH WORK



A 25 F12

48. Siredl o4
W - 1 w9 - II
(T W) (347)
(a) I Hfeadr IS T () W
(b) YA WE A1 (i) o
(o) Hf i) TS
(d) T (iv) T
it 3wy

(@ () () (d)
D @ @ @) ()
) @) () @) @
3 ) @) () @)
) ) @) @) W)
Match the following :

Column-I Column-II
(Type of forests) (Trees)
{a) Tropical Rain Forest (i) Sal
(b) Mediterranean Forest (i) Oak
(c) Coniferous Forest (i) Rose wood
(d) Deciduous Forest (iv) Hemlock

Answer options :

(@ (b) (o (9@
L @ @) @ )
@) @) @ @) @
(3 G @) ) @
(4) ) @ @ ()

HoT HIWTAEST AT/ SPACE FOR ROUGH WORK
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49. WEw f9u =T
(a) ToEesa € o2 539 fowm Wmaye vda U9 o ==l 99 1115 0. o1%
(b) et frer ® AR e a5 =t 39t 1667 W, o1%,
(c) afwEmTe firer swEneTR e TR,
(d) WY HRISH EIT U7 Tigrat & ot 73 R faamm.

Tl ot U et 314 ?
(1) faum (a) 20fo1 faum (b) (2) faum (b) suf fam= (o)
(3) faur (b) sufor faurT (q) (4) faum (o) sufo faum (4)

Consider the following statements :

(a) Chikhaldara hill station is located in Satpura mountain range and its height is
1115 meters.

(b) Salher Peak is located in Nashik district and its height is 1667 meter.

(c) Harishchandra peak is located in Ahmadnagar district.

{(d) Shambhu Mahadeo mountain range devides the valleys of Godavari and Bhima river.
Which of the above stalements are incorrect ?

(1) Statement (a) and statement (b) (2) Statement (b) and statement (c)

(3) Statement (b) and statement (d) (4) Statement (c) and statement (d)

50. WEGTHR S fEe SRSl HONT o Se Sied 2

(1) fog fee (2) e fEe

(3) Sirsen fgg 4) feam fae

Which of the following pass connect Srinagar with Kargil and Leh 7
(1)  Difu Khind (pass) (2) Khujerao Khind (pass)
(3) Jojhila Khind (pass) (4) Likhapani Khind (pass)

51. @ faoem Tsaien e TUIIER s ol
(@) FRES (b) TR (c) oRUEe W&W  (d) wRamm
Tt Il
(1) © @ 0@ @ @60 @ ©@bd @ (db)e @
Chronologically arrange the states according to their date of formation.
(a) Jharkhand (b) Manipur (c) Arunachal Pradesh (d) Haryana

Answer options :
1) (© @ 0, @ @ @@ 0.0 @ © @b @ @b @

oAl FHIHMES AR/ SPACE FOR ROUGH WORK
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52. WA HiauEmRe seet - 78 AT TAEITUR Geieus! Hvd faur faade e ?
(1) ¥=mdie ErRery § qayy S
(2) e awHT TS S desl 0] HiAHSE s B
(3) W GLFTEN TE W@ YRS Ha A GAREigR hedl S
(4) WATHED HISA T HI, WU WA YUEHE HRUNEE it arfiframren

Which one of the following statements is accurate in terms of “article - 78" of the Constitution
of India ?

(

1)  The Prime Minister decides the allocation of portfolios among the ministers.
(2)  When the Prime Minister resigns, the Council of Ministers gets dissolved.

(3) All the principal policy announcements of the Government of India are made by the
Prime Minister.

(4) It shall be the duty of the Prime Minister to communicate to the President all decisions
of the council of Ministers relating to the administration of the affairs of the union and
proposals for legislation.

53. T4 fafudsssn qee swoed fadufysysydt faur fo=mm =
(a) T Tafyreara sifuaer =g STdiaT & 312 i 39 T
(b) T Ffrisard sfdem ge dargdl 40 o st «i sreeh Fa 49 .
(c) T Tafinieam sifudem dueamat U HfeT &1 22 3l 99 A=l
(d) sTehystan fadwfusr o feamh anfn Rieert @ o1m S=id weda ST IR
TSR] IR faum /3 sRieT e ?
(1) R (a) ) (@), (b) = ()
(3)  (b), (c) M (d) (4) (@) 0 (b)
Consider the following statements about the privileges of the members of state legislature :
(@) They cannot be arrested during the session of the legislature.
(b) They cannot be arrested 40 days before the beginning of the session.
{c) They cannot be arrested one month after the end of the session.

(d)  The privilege about the arrest is available both in Civil and Criminal cases.

Which of the above statements is/are correct ?
(1)  (a) only (2)  (a), (b) and (c)
(3)  (b), (¢) and (d) (4) (a) and (b)

FHeeAT FHATATS ST/ SPACE FOR ROUGH WORK
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54. WOGH! FIUM AR aRdTE Wetel AT W= Sefi T
(1) q ToggeTa M YR ST TaT = I§0ahd T Hiad 3199,
(2) AT e kTt TR TEH S0 T 3R,
(3) Arrgd dad ot el @ ffvEd seae. (VS H® @i sifeasns Bte ot iR
sredl 3 . )
(4) Traa =mEEE YR afkd! F0AE TS ST
Which of the following statement does not related to the independence of the Supreme Court
of India ?
{1} It acts as the guardian of the constitution and liberties of the people of India.
(2) The judges are provided with the security of tenure.
(3) The salaries and service conditions of the judges are fixed (after appointment they
cannot be changed to their disadvantage).
(4) The retired judges are prohibited from practice in India.
55. YRdIE HEAUF! HIE gova afires gera =marearesn fofalg sEman et sed At e

HE gAfg AT eRa ?

(a) TETH (b) i e (c) Y& T arg Fasum
(d) T T (e) TG YAfIGRAET T

Whﬂ 'ﬁﬂ' :

(1) (a), (b), {c). (d), (e) 2) (@), () ()

(3)  (a) (d), () 4)  (a), (b), (d). (e)

Supreme Court has recognised some features of Constitution as Basic features of the Indian
Constitution. Which one of the following are mentioned correctly ?

(a) Federalism (b) Secularism (c) Free and Fair elections
(d) Rule of Law (e) Power of Judicial Review

Answer options :

(1) (@), (). (0). (d), (e) () (a) () (d)

(3) f(a), (d), {e) 4) (@) (b), (d), (e)

FoAT FIEE S/ SPACE FOR ROUGH WORK
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56. 'TUTH ~raredreAl’ Heid ereid SR faum 9 ome ?

(1)
(2)

)
(4)

I ST AEE (i) YR 39 AaearngT Hel .

I e § e (TRE) Mo s o wier anf feah o gt e

g =TI fooen Fuiafass s1fie = 49 7=
FRIedn] UHel AL

With reference to the ‘Gram Nyayalaya’, which of the following statement is correct 7

(1)
(2)

The judges (Nyayadhikari) of the Gram Nyayalayas are appointed by High Court.

A Gram Nyayalaya is a mobile court and exercises the powers of both criminal and
civil courts.

No appeal lies against the judgement of Gram Nyayalaya.

None of the above.

57, WA SECEN S GYNTeHie Ya9ET WequarH! G0 HIvE o1 2

(1)
(2)
(3)
(4)

7T 108 AR TTH ASfaoe Sl TR 949 9%
GARHIFTT e Sl HUTgRiE! g Seh
TR Wl e 95 oiTesl g So&
AT 110 3iAda wgad Aefaodt A< gunpet SyE S5

What is the mechanism f(or resolving a dedlock between the two Houses of the Indian
Parliament ?

()
(2)

<)

(4)

A joint sitting of both Houses convened by President under Article 108.
A joint sitting of both Houses convened by Prime Minister.
A joint sitting of both Houses excluding nominated members.

A joint sitting of both Houses convened by the President under Article 110.

THoeAT HIMMETE W/ SPACE FOR ROUGH WORK

P.T.O.



F12 30 A
58. WHEIH! FIR faur faaems amwR?
(1) & smfor Suslt @ 7 wee=an dfugd ST (official languages) 3T,
(2) HarE el I 39 Aredi ¥d Fmwe wae B s gush vyiae wes.
(3) ToEEEA=Al ANSEn Ui SUSIHE 22 Wi TS ool ST1eA.
(@) TR fugg amr sAfufam 1963 74 YR FO@ TR
Which one of the following statements is correct ?
(1) Hindi and English are the official languages of the Union governument.
(2)  All proceedings in the Supreme Court and High Courts are in Hindi and English only.
(3) The Eighth Schedule of the constitution specifies 22 languages including English.
(4) The Parliament enacted the official language Act in 1963,
59. PFANIS qRifHd FYAHEHT Rl Tt e e ?

(a) T YR WA HUNRE digl T K s,
(b) I YR e GUNTET HIEt F0Are! fFm 10 (FR1) feaars= qege gt onm.

(c) WWifehd Fei=A1 ALIH! At ST 7 feoea el anifend Y9 RO o S,
(d) TliFa qifha Teei<t At fEve HRETER B .

Whﬂ' :‘Fﬁ- :

(1) (@), (b), (), (d) (2) (a) (b)

¢) (@, © ) (4) (b), (d)

Which one of the following statements are true about Star Questions in Lok Sabha ?
(@) This type of questions require oral answers in House.
(b)  This type of question requires notice of minimum 10 days before tabling it in Lok Sabha.

(¢) The Star questions not orally answered in the starred List of questions are treated as
unstarred questions.

(d) The list of admitted starred questions is printed on green paper.
Answer options :

(1) (@ () (@), (d) (2) (a) (b)

@) (@ (o) (d) 4) (b} (d)

FHEAT FHEETS AR/ SPACE FOR ROUGH WORK
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60. WIHTIE! HUQ fEm T 371 ?
(1) g g iarE fag TemeEh .
(2) TwarEn g widerar wriwes i s
3) T Y e € TuIeE YHE Geen R VA S .
(4) SIS THE AR
Which one of the following statement is correct ?
(1)  The Chief Secretary of the State is chosen by the Governor.
(2)  The tenure of the Chief Secretary of the State is fixed.
(3
(

) The Chief Secretary of the State acts as the Chief advisor of the Governor.
4)  None of the above.

61. ‘'anfes o wmsss Friem’ & faug wiven g gmfaw v e 31 7

(1) d9 g (2) T g (3) aHadl (4) TRl -l
In which List the subject of “Social and Economic Planning’ is included ?
(1)  Union List (2) State List (3} Concurrent List (4) None of these

62. Y AicoEEg oGt Th fauH q@ e ?
(1) UM T § 9 99l FeEHEE! THe S,

(2) TSIHIG THY T GO (e HHeRne T G9EE et e Tl sty
FHUR AT,

(3) e FTHAEIS A oD fAUHE T 71 T4 HiAnSaN] 9ee TRUard TS STaa.
(4) HAR GEIe fEoT YeemeEd RIVER] AT Sl Fi duR w1

One of the following is statement is true with regard to the Council of Ministers in a state :
(1) The State Ministers are appointed for a period of Five years.

(2) The total number of ministers in the state shall not exceed fifteen percent of the total
number of the state Legislature.

(3) A disqualified member of the Legislative Assembly under tenth schedule is eligible to
be a member of the state Council of Ministers,

(4)  The advice tendered by the ministers to the Governor shall not be inquired into by any
court.

&l THHHE ST/ SPACE FOR ROUGH WORK
P.T.O.
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63. THYE ‘ToayEl’ de Sl favaeed deee’ Teite wiftrbed s Foamar s
& ol TS ‘
(2) N BFHHN TR (9 3 TFag=a Ao e Siiva $e @
(b) R 3 o stfusr Teaen fafindesrt 7@ ot o9 FaT |,
(c) T U OO S AT RS W™,
(d) R ALY T8 A FIR SIS FUeEr TS T/
TSI HIOR foa™ a7 2
1) (@), (b), () 2 (b)) @ (3) (@) (o) (d) (4) =o W
The constitution empowers the Parliament to make laws on any subject of state list under the
following circumstances :
(a) If the Lok Sabha declares that a subject mentioned in the state list is of national
importance,
(b) If two or more states legislatures pass a resolution to such effect.
(c) If a proclamation of National emergency is in operation.
(d) For implementing the international treaties and agreements.
Which of the above statements are correct ?
(1) () () ) 2) () (o) (d) (3) (@) () (d) (4) Allabove
64. WIGHUT! HIE ToAMEL THAFE faviidee T ?

(1) SR W™ (2) TS @) feewa @) e
Which of the following states do not have a unicameral legislature ?

(1) Uttar Pradesh (2) Gujarat (3) Himachal Pradesh (4) Punjab

FoAT HIHMSt AN/ SPACE FOR ROUGH WORK



A 33 F12

65. Woe faUMtH! S AT 1% ?
(1) TSTERA 9 V TS 9600 - | § T5ar=01 Ter yaaargay] oe.
(2) TEFHEAS TR - 165 © TAT=AT WRlGaskarmatd 3.
(3) THERAN SRR - 177 & W3 fafurserst aurm sttt afidt a1 dvid e tear= Ferfesrear=a
(4) TSI TR - 194 ¥ ToAT=N Weuaaars afusR, favmiesr onfn Smaceit wie a1
BEECIC
Which one of the following statements is incorrect ? . .
(1) Chapter - Lin part V of the Constitution deals with the Advécate General of the state.
(2)  Article - 165 of the Constitution is related to Advocate General of the state.

(3) Article - 177 of the Constitution is related to the rights of Advocate General as respects
the Houses of state legislature and its committee.

(4) Article - 194 of the Constitution is related to the powers, privileges and immunities of
Advocate General.

66. ‘o frarem wfbdt’ < Erdteist Fvw e attet a2 (e devld)
(a) TFEETS SR - 243-ZD 399 Tmiw goedt & wfidt o,
(b) o1 Wik =BEQaT HH AL AN AU TR E Th S AT
(c) TSeRmen wreshnst 7 4 Gt seaey s,
(d) Toree aftaden qen wrwd afawr @ aftd=n gsa-afad = w @,
it I
(1) @3amr®)  (2) (b) () M (a) (3) (a) =0 (o) (4) =@ wE

Which of the following statements about the ‘District Planning Committee’ are correct ?
(With reference to Maharashtra)

(@) Itis the committee created as per Article - 243-ZD of the Constitution.

(b) It consist of not less than forty and not more than sixty members,

() Guardian Minister for the district is the Chairman of this committee.

(d) The Chief Executive Officer of Zilla Parishad acts as its member- secretary.

Answer gptions :

(1) (a) and (b) (2) () ()and(d) (3) (a)and (c) (4) All above

oAl |G TR/ SPACE FOR ROUGH WORK
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67.

34 A

e faur fa=r =10

(a) STToE 25 3 UQUGIaa® dEH NI § HUiY YA, SR § YR HvaredT Wi
BFRIE! B TG AR,

(b) 3TI=E 25 WE has YiiHs favem™ () M9 THEy g o e @ ot ddr (faxh)
TTaTEY THTE S,

(c) WA HHi= YO hivars]] oA SHAl SAloa 3Ued gafd gaidt Sugreal gaehr
T B

(d) e TEE=E Bk choles AUTERIAT 3Uoed 31Ted.

et ol faum ST s ?
(1) (a) A (o) 2) (a) SO (b) ek
(3) (a), (b) 370 (d) 4)  (b) =nfor () W

Consider the following statements :

(a) Article 25 guarantees right to freedom of conscience and free profession, practice and
propaganda of religion.

b)  Article 25 covers not only religious beliefs (doctrines) but also religious practices (rituals).

—

¢) Right to propaganda of ones religion includes the right to convert another person to
ones own religion.

(d) Rights to freedom of religion are available to citizens only.
Which of the above statements are correct ?

(1) (a) and () (2) (a) and {b) only
(3) (&), (b) and (d) (4) (b) and (c) only
68. WOBIS! HITR fGHH Tepid TR ?

(1) YT ToF Drhad] SAREMTA] T T TS T,

(2) T Tod Bhdal AE B HAS FEAAER A0 R dd.

(3) TIE Tod HRAd] ST € AT T T o CF QUi ST o
(4) SR THE TR

Which one of the following statements is incorrect ?

(1) There is no provision for the establishment of a joint State Public Service Commission
in the Constitution.

(2) The joint State Public Service Commission can be created by an act of Parliament.

(3) The joint State Public Service Commission is a statutory and not a constitutional body.

(4) None of the above

T HTAEE! JEN/SPACE FOR ROUGH WORK
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69. W Taet Fram o ufearen seard qEiot] S Ted HRONYT 38 ?
(a) HEEME S@ER Fomy 910
(b) fawFRH dile @
(©) wea fauifamr wmam w@Ee
(d) HEFR A AhAaE HoATHl R
(e) wEd fash frm ¢ wafas @euH aed

gt 3¢
() (@), ®), (), (d), (e) 2 (@ (o). (d)
(@) (b), (). (g) (4) (a). (b), (c), (&)

Which one of the following are reasons for growth of phenomena called delegated
legislation ?

(a) pressure upon Parliamentary time

(b) technical nature of subject matter

(c) experimental nature of delegated Legislature
(d) need to make executive more powerful

(e) Itis flexible in nature

Answer options :

O @ 0)© @, @ @ @ © @
(3)  (b) () (®) 4)  fa) ®) (

70. WIHSTH HIV TR o 1956 T 7 T HAIGERI HIAER hivaR S A ?
(1) EE ATREN TESS TGI8 Tl & a0,
(2) 7 fawg @1 WuEEmYl guIfae HEE el 9w sEge Gl 9 fawiaie #
(3) I AT ATYHR & S-S T S HI0I 31,
(4) = e sfaftE e nfor w9l e T Sl ag HE STe.

Which one of the following provisions was not amended by the 7" amendment Act of
1956 ?

{1) Abolished the existing classification of states.

(2) Included a new subject in the Union List i.e. taxes on the sale and purchase of goods.
(3) Extended the jurisdiction of High Courts to Union Territories.

{4) Provided for the appointment of additional and acting judges of High Court.
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P.T.O.



F12

71.

36 A

et faum faramag =

(a) PEHHIHT HIOCE HCPT AT 2a A Ieha.

(b) mawm’cﬂaw% w379 3T qidel 380 Tl I=9I3! SRS el SR,

(c) wfavary SUEHGT WAl 6T eI | fEedi=al 3@ @ quren \xde! et 1

(d) Frwaren frm 198 792 sfavard STar=n Todg=HEl T gt e

el T faum e o ?
(1) (@), (b) 3T (c) (2) (b, (c) 3w (d)
(3) (a) 37U (d) (4)  (b)  (c)

Consider the following statements :

{a) Any member of the Lok-Sabha can move a no-confidence motion.

(b) A motion of no-confidence is admitted for discussion when a minimum of E members

of the house support the motion.
() Nb confidence motion is to be introduced within seven days of the leave being granted.
(d) Rule - 198 of the Lok Sabha specifies the procedure for a motion of no-confidence.
Which of the above statements are correct 7 |
(1) (a):. (b) and (c) | (2)  (b), (c) and (d)
(3) {(a)and (d) (4) (b) and {c)

e —

Foall HHEE FM/SPACE FOR ROUGH WORK
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72. @O faum faard =0 .
(a) mmmmﬁwmﬁwmmm@ﬁm
O YT T i IR wevAr Wt e,
(b) FITE RO Tl Tgyarst Feasvw dvam facs wead Tet Tgude TRuUR wiEd
MWWMWWWWWWWWM

=it 34y
(1) Taum (a) SR 37, , @ faem (b) R 3.
() S faur S s @) ﬁﬁﬁuﬁaﬁa’tmﬁa

Consider the following statements :

(a) In case of any delay in conducting the election of new President by any reason, the
Vice-President get the opportunity to act as President or to dlscharge the functions of
the President. e r e e Syt

(b) In case of any delay in conducting the election of new President by any reason the
outgoing President continues to hold office (beyond his term of five years) until his
successor assumes charge.

Answer options :
(1) Statement {a) is correct. (2) Statement (b) is correct,

(3) Both the statements are correct. 4) Both the statements are false.

73. SN = 08 Wmmwmmmmmwgﬁ
anfor gHoT ST S W Pwiad R 34 =T 7.

(1) 1982 2) 1963 (3) 1987 () 1985

The High Court of Bombay became the common High Court for the states of Maharashtra
and Goa and the Union territories of Dadra and Nagar Haveli and Daman and Diu since

(1) 1982 (2 1963 (3) 1987 (@) 1985

74, Fg Gfaufe weAgE wEeg dade wHarE wat onfn fEeriveyiie faareien
TraTearae | rarfyeorsar’ I g e T ?
(1) 25= (2) 42=n (3) 44°M @) 755m

Which Constitutional amendment to Indian Constitution introduced establishment of Tribunals
for adjudication of disputes related with recruitment and conditions of service of person in
government service ?

1 25" 2) 42 (3) 44" @) 75"

HEAT HMTATS AT/ SPACE FOR ROUGH WORK
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75. e Sieibeyia e faum om =L
(@) eI AIST=T FEERT ATRFITE fHad WA el FHrar.
(b) SrHE AretE A sNSH W= Fioas] 9= 91 gaehl 3T,
(c) MR Tewai=n Hroal 31 o o9 3aeT STE.
e BT faem Frery e a7
(1) ™ (a) (2) & (b) (3) HH () (4)  (b) =7 (c)
Consider the following stalements regarding the cantonment board :
{a) The Executive Officer of the cantonment board is appointed by the President of India.
{b) The elected members of the cantonment board hold office for a term of five years.
(c) The nominated members hold the office for three years.
Which of the above statements is/are incorrect ?
(1) only (a) (2)  only (b) (3) only () (4} (b)and (9
76. TR 1 JsR-TATHA Srefsmea Haid weteih HoR G ge ot ?
(1) 1 Frdshuma fEae! STRam Tiet
(2) = wEEAsTt Tof aHvR TSR gEvaE didtew! e
(3) TATm AT TSFRIER 9 T,
(4) AT AT AT Wt A T USIIRIER W 2,
Which of the following statements is true for employment generation programme of India
named MGNREGA 7
{1) There is no reservation for women in this programme
(2) Itis bound to provide employment for the entire year
(3) It focuses on rural employment
(4) It focuses on both rural and urban employment
77. ‘gmawwﬁw:#mmﬁwﬁ:aﬁnhm’amwa@mﬁawmm

HIUET AT T 7
(1) =& H (2) WU FE ¢) ImTfEE @ eHs AR

‘Supply creates its own demand’ as a fundamental law of classical economics was put forward
by which of the following economists ?
(1) J].B. Say (2) .M. Keynes (3) David Ricardo (4) Alfred Marshall

oAl FHIHTES A/ SPACE FOR ROUGH WORK
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78. TN UG U] GIore TRHTONIHT SO GREmma Sem=an TR foaenqy saEest o
T FS M ?

(1) TES S S (2) TR UL SIRA
3) T et 3o (4) for femwia freae Iuiwia IarRA

Which of the following measures of Country’s national incorne includes the income of residents
received in foreign countries ?

(1) Gross Domestic Product (2) Gross National Product

(3) Net Domestic Product (4) Net Domestic Product at Constant Price

79. Jo emH Tagard Hivw g Eeiets S AUEEN vy gige ?
(1) <y, F (2) emafe freR
(3) THE. fog (4) ITEHRE NS

The Cambridge Version of Quantity Theory of Money was first developed by which of the
following economists ?

(1) IM. Keynes (2) Irvin Fischer

- (3) AC. Pigou (4) Alfred Marshall

80. WA= e fasmrar Rl ToEie A oS! Sivren SEeETy YEAeR s
el 2

(1) e oo (2) HER IR

(3) o HgeE (4) WO

Second five year plan of India’s economic development was based on whose statistical
model ?

(1) Jawaharlal Nehru (2) Meghnad Desai

(3) Paul Samuelson (4) Mahalanobis

THeRAT FHMTHE ST/ SPACE FOR ROUGH WORK
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81.

TR oW e AT e e e e Wt s A ST e SRR RATITE CatT CARREROR R T et R I T e T T mhieT e e xR R D ISR TOTIT T SRR M R T T PR e e e T e T

40 A

FLFT 2000 HY WY WA 189 GWRARH! ' HeEASRe o7e fawm SfEe’ sifieradt. arciets
FHIUA IfE= =1 AB TewAH SN 9 et ?

(1) o gumd=n y=r

(2) EteRw wyEdEt A

(3) Hidia® wafies Frarom= wrea
(4) Tudiren == faarom=n i

In September 2000, 189 member countries of United Nations adopted ‘eight Millennium
Development Goals” (MDGs). Which of the following is not a part of MDGs ?

(I) Promote gender equality
(2) Ensure environmental sustainability
(3) Achieve universal primary education

(4) Ensure equitable distribution of wealth

82.

st famraren ufsda Eoiets! SIvR TEA faity aRor areE A ?
(1) & Td (2) T AHRE
(3) wafTEF AR (4) HANS SSUTH €O

Which of the following is not a fiscal policy instrument in the process of economic
development ?

(1) Government Expenditure (2) Taxation

(3) Credit Control Policy (4) Budgetary Balance Policy

FHoAT FHHHES AN/ SPACE FOR ROUGH WORK
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83. Ao fafay aufdie QIeRar =T ;
CL ATHTET THRRATT
(a) ¥ 1951 (i) 43.7%
by H7 1981 (i) 52.2%
() |T 1991 (i) 74.04%
(dy 97 2011 (iv) 18.3%
A HH O
@ b @© (@
1) (v G @@ @
(2) (@ Gv) @) ()
@ @) @ @@ )
@ O @ @ @
Percentage of literacy in various years in India :
Year Percentage of Literacy
(a) Year - 1951 (i) 43.7%
(b) Year - 1981 (i) 52.2%
(¢)  Year - 1991 (i) 74.04%
(d) Year - 2011 (iv) 18.3%
Match the correct pair :
@ ({& (© (@
1) (v) @) @@ @
(2) @) @) () )
() ) @ @ @@
4 QO () (@) 3§)
84. wfaa s Al fasrararsn fawga gies™ S ?

(1) e TEEE g

(2) =iTes fnayon, =TS e, smiftn e SRR

() =i wiEw fn == yater

(4 =ewE

What is the broader perspective of World Bank about economic development ?
(1) Improve quality of life

(2)  Better education, better health and better nutrition

(3) Less poverty and clean environment
(4)  All the above

FHeAT HHEIS TR/ SPACE FOR ROUGH WORK
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85,

ereSi s eleEs e e S e M e TR Ve g e o e B L L S T

42 A
T a4 A WU HE WISt HIR F e ?
(1) HT& SISt gegr HE Sl
(2) ST ST YRUATH HEd Al
(3) i <O I EOY TR A
(4) WEF WIS O[T M B,

Money as a standard of deferred payment performs which of the following functions ?
(1)  Stores value for future use

(2) Helps making payments in [ractions

(3) Makes borrowing and lending possible

(4) Works as a common denominator

86. TR WHA §HI TUATY WISBUH! v STy Aér 2

87.

(1) 3= e M0 I=1 Jegal

(2) SEEr gigumy gamen

(3) CTREEE T Ticdl SThRTE I Aed WErs 760

(4) TrirEEER A sEoaE

Which of the following is not the characteristic of second stage of demographic transition ?
(1) High birth rate and high death rate |

(2) Improvement in medical facilitics

(3) Sizable section of population below poverty line

(4) Heavy dependence on agriculture

‘e Tyerl ot resEte, 320 Ae WAl € wifdens T+ roreis! s sdueer fofes
e ?

(1) sie foy (2) Shee fepeEl

(3) WA TE (4) Sy, foe

A revolutionary book ‘General Theory of Employment, Interest and Money” was written by
which of the following economists 7

(1) Adam Smith (2) David Ricardo

(3) John Menard Keynes 4) ]S Mill

FoA HIMEE AP/ SPACE FOR ROUGH WORK
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88. WHGIH! HVN faum ' SreHEAaTE T’ W g w2
(1) DS TATER T 918 HEF] TR FhE
(2) HH STETEA U [aaUE ] Afated 4 sqeed
(3) SHETSIE fegiel Hed aeear sfds JeEed TR
(4) Sos wd
Which of the following, slatements describes ‘demographic dividend’ 7
(1)  Shift in age structure of population towards adult working ages.
2)  More surplus available for investment due to low dependency ratio.

(3) Increased economic activity due to more women in the market.

4)  All of the above.

89. RMEAT= SgMTH HehouT WiS@IH! Hoen afaar gif=g Fd ?
(1) qre&swT safor 17 T 2) dgew wfte
(3) FEgATeA T @) T smm

Multidimensional concept of poverty was introduced by which of the following
committees ? )

(1) Dandekar and Rath Committee (2} Tendulkar Committee

(3) Ahluwalia Commitiee (4) Planning Commission

90. (a) WMERI 2015 HY S5 Wil FRGIN WE SwidTd SORATEET T4 3o FER el
(b) ATHER IMYNEY 3TEt=A1 2004-05 UHT 2010-11 37 SESvaE 3 3=,
szﬁ 3?&‘ :
(1) (a) Fo IO 3T (2)  (b) o T A
(3) (o) ST (b) SR TR TR (4)  (a) 3007 (b) S = smRd
(@) In January, 2015 the central statistics office released a new GDP series.

{b) It has shifted the base vear from earlier 2004-05 to 2010-11.

Answer options :
(1) (a) only is correct (2) (b) only is correct

(3) (a) and (b) both are correct (4) (a) and (b) both are incorrect

ol HIUTETS S/ SPACE FOR ROUGH WORK
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91, WrhaErear fomae Hremm ¥ ¢ fo ol o He HS 9. O Gare Eeete s S ?
(1) Hor=a1 o qotdl aoqe o
(2) Hor= god SEH! S ot SE
(3) T 1,000 TEAHM faagi=) e
(4) ThSYE gard T
Sex-composition of population is measured by the concept of “Sex ratio”. What does the
concept mean 7
(1)  Infant mortality among females as compared to males.
(2) Number of girl children born per year as compared to males.
(3) Number of females per 1,000 males.
(4) Average of all the above
92, foir fawmman el ArgaTeed a1 7 sedra foaoar ot g
(1) 3T, TESHLo ST FOeeRT TEYm
(2) Forerm, s anfn mER
(3) e T, arfye agEfE, =
(4) =ie wd
The Gender inequality Index measures the inequalities built in the three dimensions
(1) Health, empowerment and labour force participation
(2) Education, health, Nutrition
(3) Standard of living, life expectancy, knowledge
(4) All the above
93. TrE! famr FEwisEt T FRaE qF aiEiE fER sel S, @it S aREm 91

frdwiem faama 99 Se Er ?

(1) < enfor R Sfre (2) T srawEan

(3) fTagor=h @t (4) Irg SEaEE

Three basic dimensions are considered while calculating Human Development Index (HDI).
Which of the following is not a dimension considered in HDI ?

(1) Long and healthy life {2) Gender Inequality

(3)  Access to Education {4) Decent standard of living

FeAT RIS AT/ SPACE FOR ROUGH WORK
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94, I WA W fewm@ v fawm @A
(1) wreEdar T ACHTHA
(2) Pwid I WA
(3) UL oA I &S I
(4) EEIE CaT S Swiya giew
Amartya Sen considers development as the expansion of
(1} Sustenance and self esteem
(2) Real freedom of people

(3) National income and per capita income

(4) Social structure and popular attitudes

95. WIABUH! FIU e wa THardie ufes faafaerg daw o ?
(1) SEIHIAE  (2) IFTEHE (3) IR (@) TEE

Which of the following is the first development financial institution in Independent India ?
(1) IDBI (2 IFCI (3) ICICI (4) NABARD

96. 1971 waﬂwﬁw‘mﬁﬁﬂm’mﬁ%ﬁwwmrﬁmmﬂ?
(1) Tram SedeEn 1 o/ 3w
(2) THar 75% o9 ferreges 996 Ao 3TEm
(3) WIERAl X UL wuEliven sfuw e
(4) TS IO UL AUHeen Al o

Which of the following statements defines ‘Urban area’ as per 1971 Census of India ?
(1) Minimum population is one lakh

(2) At least 75% of male population is engaged in non-agricultural activities

{3) Literacy rate is above national average

(4)  Per capita income is above national average

oAl HEES T/ SPACE FOR ROUGH WORK
P.T.O.



F12 46

97. T 9FRI/TTSF SHRI KU
(a) VIAHSX T HLE TN WA SR R USq ARl
(b) TSI WA SeqrEha Y AT
() VISR STHHEHAT STHeITes Sbr! fim e
(d) A e s PR fretaam.
Tt ot faum stew smea ?

(1) (a) T (2) (a) 2T (b) T (3)  (a), () MW () (4) (b), (c) MW (q)

Disguised unemployment means :
(a

b

Agriculture Labour works but not addition in Agriculture production.

)
)

—

Marginal productivity of Labour is Zero.
(¢) Unemployment is created due to inefficient agricultural labourers.
(d) Labour gets employment in disguised way.

Which of the above statements is correct ?

(1) (a) only (2) (@and(®) only (3) (@), ()and (d) (4) (b), (@) and (d)

98. T € wiwm A fashrarel Hew@nd! €1 Ted FHow! 2
(1) TnYaddl, AHTAE, A
(2) ATYRR, &Hdl, STEHEHA
(3) UmIfSe I, BIHHY ghesH, eEad
(4) o wd

What are the three core values of Development according to Goulet D. 7

(1)  Sustenance, self esteem, freedom

(2) Entitlement, capabilities, self esteem

(3) Social structure, popular attitudes, sustenance
(4) All the above

HOAT HIATAE A/ SPACE FOR ROUGH WORK
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99, afE FeHTaTeN IO TS ST Gas yae woen (wre faa v A aaet
i AT B a9 Ty H e ?
(1) T&F () ﬂwr::émé
(3) TeE-IHTF (1) o W T

Human Development Index (HDI) as an alternative to Gross National Product (GNP) as a
measure of economic development was brought about under the leadership of which of the
following names ?

(1) AXK. Sen (2) Meghnad Desai
(3) Mahbub ul haq (4) None of the above

100. HET foe AT 2015 J9R T fasm FEaiemed wam SHaismET 9 I ?
1) srfom (2) EdeE (3) IFE (4) &

Which country rank first in Human Development Index according to HDI Report 2015 ?

(1) Australia (2) America (3) UK (4) Norway

-000-
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T — (923 1 961 12....)

8y wwyfasne fafes Feea faire Iri= = ™ (TF 9F) F0E.  TEqiasmeraim e 91 3
FITEER =l FH FoaH d H F0Gr=A IR FS AR, I 990 TRe 9 AR IHEE -
IR Fee  wheiasd grom=n g ey wvamEeee sfufrm-g2'" anie WEdTaR AR FEE
I¥w T < =R Fie T ot HREETS e/ e T9 G e TR e e i e,

(9) R WEHEE A fafeq FOH 4% HUEAHTT IHEAR @ WeYfel W qiet TerhaEe] 2
S WEA SR, AT QAR gITArY SUETyEt SUEar HYear IAGTh e -1 USSR S |
farrar o @Y Snavas I8

T 201.

. 3. 201.

T A T FOAHIE SO g T w9 ?
() T AR TR ) TvaEg fremari
(3) TS UHHEET T (4)  TirOresFS TREe

1 A g 3 (3) TN UEEed W e A 9 A Y IWOC(3) e A
FETTI T F. 201 FA© IR-FHw (3)" T T 0 S FEA Irafa sEwas
S

ONON O
ST SN W TS Wellh W gl IW-5hHI B Jreret Taien JUaRedl STt

R 1 TR ER NS GaUd 94 YUt BTaifd FEd TEEEl. oAl had Hiedl Y
AT IR, WA 91 AR U A T
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